& A SR EIRPTASIREHAR ©
INFERDOBREER
([CHh'HDBFEET (2R)

~ STV B NERR ~

w0 4 9H17H (LX) 16: 00~
ER X ISP R EEALER 7B (3 EES

©) (®



H X

IN=TI =

2. I\t h—8&
e

(R4
.6.18)1R5IF

5 =
ZBDEDHH




INFROBiREIROIRES
N A= =]
V== g N
BFIEOIRILO
B ISOERE - H%Fa‘i(DWW E
| T [ — | L
o SEELRIFAEE . B élip\ﬁ ___,,_..J.---f-----";--""%%ﬁt B -' S/l /N 600m
' - ﬁ;’% TREAEOR  wsmmas t il‘
i |, HESEE % P %g %%mﬂiﬁgm%ﬁ%ThﬁTg : AR S1ER1THS
AT el /_,_x:@ﬁ‘?f L SERGRLD #Fﬁm =3 ESEAR 5 _i /N E T650miE
e Y A :' o |
- 7?:-;' — A= —HE .0’ SEERER |
- : T e it o Lot BMR SEE2TH19
FEE R s \ S _ o | 3
s S , | N8 ijS I 7IVE T200mig
2 SEm= e g
I ®  CHE fEm4TE?
_______ HHE 7N & T200miE;
. 1 ..\\ BEBE—TE gy
@) N eHEREE .
) ®




INERD BiRE DR

BEF ISR

AtthrS 44’1 TES
Bith 2 44@m@2TE19

Cih /1 4@m@4THY

AtthrS 44EmE1THES
Bith A 44@m2TH19

CHh /i 5@@4TEHY

450m - 673 650m - 753187

550m - 753 200m - 3773187

1.0km = 1353 200m - 39N

1.5km = 2153 1.0km - 1653

1.3km - 195 1.5km - 2153

1.4km - 209 1.%m - 284>

1.1km = 134>  EEE/N400m - £23T/1v700m
750m - 104  £8:;T%/M50m - §8;1/1900m

800m - 10  #&;TE/IN700m - 83T /1M . 4km
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1.0km = 1543 35 5800m + E 1. 7km
600m = 94  Ed1.2km - HBS1.5km

1.0km = 159  Z=d1.0km - 3FZ52. 1km




